1. BTZH(BEa—R)

saz X4 B SREEH ERESE ZEREHR EREHN AZEEH
SHLF SbEF SbEF SbEF
FIECISEE] 127 265 32 2.1 216 24 142 20 130 17
%ERE 64 547 91 85 547 91 156 24 74 9
BET T (— ™ 64 137 19 2.1 137 19 64 10 64 10
gl & T = g |RAEI (— g * 9 20 2 22 20 2 1 9 1
BER T (KT 6 19 19 32 19 19 4 4 4
BERT (KT 3 2 2 0.7 2 2 1 1 1 1
FREER 52 78 9 15 78 9 52 7 52 7
&t 325 1068 174 33 1019 166 428 67 334 49
FIECISEE] 93 180 30 19 145 21 127 18 111 14
#®HRE 46 287 46 6.2 287 46 76 15 33 4
BEE T (—fgi) X 46 70 16 1.5 70 16 49 12 49 12
SR T LR BEE T (—fgi) X 6 7 1 1.2 7 1 1 6 1
BERT (kFH)* 16 16 40 16 16 4 4 4
BABI (XFH* 1 1 0.5 1 1 0 0 0
FRIEER 38 38 7 1.0 38 7 37 7 37 7
it 235 599 117 25 564 108 299 57 240 42
UGk 220 445 62 20 361 45 269 38 241 31
#®ERE 110 834 137 76 834 137 232 39 107 13
BET T (— i 110 207 35 19 207 35 113 22 113 22
st BETT (— i 15 27 3 18 27 3 15 2 15 2
BER T (KFR)X 10 35 35 35 35 35 8 8 8 8
BABT (7 X 5 3 3 0.6 3 3 1 1 1 1
ER R 90 116 16 13 116 16 89 14 89 14
it 560 1667 291 30 1583 274 727 124 574 91
2. BT (REEI—R)
- X4 =48 SHEH ShafEE ZREN AREH AZEH
SHEXF SbEEF SbLF SbXF
ATEAR AR 20 64 2 32 56 2 46 2 35 2
al s T = M i&fm& 10 100 9 10.0 100 9 21 4 1
Hwhen 10 6 0 0.6 6 0 4 0 0
it 40 170 11 43 162 11 71 6 43 3
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